Nl = Off & Ab Al A
2025E S =0llAH LBSIAL Ofl LA K] 2t
SA O
g3 UK dRUS
e OUA M IS, =23 (EERSED)
SA BB S2(3) - HIRAR - BAS e Gl b D2
Ofl LA X1 2t 33,011,443 21,867,988 11,143,455
= 4,748,695
[ 9,677,000
& 6,288,338
Al 12,197,410
CH 100,000
LIS PRSI P UES 462,000 2,251,500 1,789,500
< 100,000
Al 262,000
CH 100,000
X = 0=, 29 12,000 3,000 9,000
SANUXIAE 29 12,000 0 12,000
307 QIZ2t0IA 12,000 0 12,000
05 22 E= 12,000 0 12,000
SAUXIE 2S (4T LR) 12,000
222 oUX Mt 250,000 2,248,500 1,998,500
oz MEDI3 223 250,000 250,000 0
308 NXIEHMSOIA 250,000 250,000 0
07 XSS 3 250,000 250,000 0
SHEL Jo22 ME JIE FEs 250,000
NG HE SSHAAA =4 100,000 0 100,000
CH 100,000
HIAXILBAH SR =4 100,000 0 100,000
CH 100,000
201 ZeH23Y| 100,000 0 100,000
CH 100,000
01 At22tell 100,000 0 100,000
S+=4ge £ & sS4 Egd g5
AA2 100,000
CH 100,000
CCUS sl=22c2iAE =4 100,000 0 100,000
& 100,000
CCUS 3lE2eiAl 2d JI2HE =¥ 100,000 0 100,000
< 100,000
306 EA= 100,000 0 100,000
& 100,000
01 2= 100,000 0 100,000
CCUS SIE2iAE =4 BIEE XA & JI2
HE =8 100,000
& 100,000
HUXIEE S X1 13,000 18,000 5,000
a3 SN 13,000 18,000 25,000
ofarESs eXHe X 13,000 18,000 25,000




SA Ol X1
I HUXEE s X
el oHaSE EHXIHE

HEE

SA B BRI(E) - NRAY - BAS ol &t G HIDE2
201 Zer= S| 0,000 15,000 5,000
01 AFR22lt] 0,000 15,000 5,000
GHArZe! SN XIR(RIBBOH 29
£22 HX, X2, 28 ) 0,000
202 01t 3,000 3,000 0
ENEE] 3,000 3,000 0
ST 3,000
EEERGEErE 2,806,000 5,866,000 3,060,000
EEEEEEREREEEE 6.000 2,073,000 2,067,000
SHOE ANEABIE 2E N 6.000 8,000 22,000
201 LEr2SY| 6.000 8,000 22,000
01 Al 22l 6.000 8,000 22,000
DLRIE ABASIIY ARIKIH(ERS
M=, X2, 2A4g S) 6,000
NSNS 2,800,000 850,000 1,950,000
FIItE HUHEIZl MARE Areist Dleins 2,800,000 500,000 2,300,000
306 2013 2,800,000 500,000 2,300,000
01 &%= 2,800,000 500,000 2,300,000
BHEIZ] THARR AMRiSt MIE) © ZHI 7S 2,800,000
e EPN RNV 20,852,000 4,784,200 16,067,800
2 4,665,000
2 9,677,000
= 3,053,000
Al 3,457,000
FEUILIX ZESNER 23 7,305,000 3,275,000 4,030,000
2 4,665,000
= 588,000
Al 2,052,000
SAARENR B2AY 2,625,000 1,625,000 1,000,000
2 1,575,000
= 210,000
Al 840,000
402 IR0/ A 2,625,000 1,625,000 1,000,000
2 1,575,000
= 210,000
Al 840,000
02 SIRIRH=AIL 2 Z (01 R THR) 2,625,000 1,625,000 1,000,000
LA012 XX B2
37,500, 00024%70CH 2,625,000
2 1,575,000
= 210,000
Al 840,000
2ARENR 22 (HA) 4,680,000 1,650,000 3,030,000




2AM:
X{XH -
o /e

cH):

Ol LA X1 2
Saett | [E DN RFagsabora
=20UA DSHEXNSE 25

S B SRI(BH) - HRAY - BAS

Ol

A}OH

— T

PIE]=>
e

Mo

=

3,090,000
378,000
1,212,000

402 212tXH=01 S

hoH

=

4,680,000
3,090,000

378,000
1,212,000

1,650,000

3,030,000

hoH

=

4,680,000
4,680,000
3,090,000

378,000
1,212,000

1,650,000

3,030,000

EONTEPNRNEE=YE

SRR

=

13,547,000
9,677,000
2,465,000
1,405,000

1,509,200

12,037,800

SRRES

9,055,000
6,965,000
2,090,000

9,055,000

SRR

9,055,000
6,965,000
2,090,000

9,055,000

02 SJ12S0CHE A= E 2 S A

FAEA =S

SRR

9,055,000
9,055,000
6,965,000
2,090,000

9,055,000
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400,000

376,200
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400,000
400,000

376,200

23,800

Ho| 08

4
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Ve
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5,000

8,000

23,000

N
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e
L

5,000

8,000

23,000

>
10
= e
o1 0R
o=

o

5,000
5,000

8,000

/3,000

SRR

=

4,087,000
2,712,000

375,000
1,000,000

1,125,000

2,962,000

on

t

403 AXIEHHSAH=Z01E

ball
m
>

SRR

4,087,000
2,712,000

375,000
1,000,000

1,125,000

2,962,000

02 S 2SS0t ett=H AL

4,087,000

1,125,000

2,962,000




2A:
X ZH
S

OILAXI Bt
N ENRN=EE

=0
=20 X A=A

HEE

SA BB S2(3) - HIRAR - BAS Ofl ke e HI DS
>olf 4=, dHIF 4,087,000
= 2,712,000
LS 375,000
Al 1,000,000

UIIE PNE= ol pSRR= = D 8,014,300 5,945,000 2,069,300
= 83,695
& 3,135,338
Al 4,795,267

ALK 25 3,404,300 1,791,000 1,613,300
= 83,695
& 3,020,338
Al 300,267

FHAAS XIS 64,400 0 64,400
= 43,240
LS 6,348
Al 14,812

401 AIZHIZ 20| 64,400 0 64,400
= 43,240
LS 6,348
Al 14,812

01 Al&H] 64,400 0 64,400
2025 FHAAES OIHXISKIAI (led) 64,400
= 43,240
S 6,348
Al 14,812

TADIASEAIE EXI8] XIE 350,000 445,000 285,000
LS 105,000
Al 245,000

402 2I2tAE01H 350,000 445,000 285,000
& 105,000
Al 245,000

03 IS AN 350,000 445,000 285,000
SADHS SSAIE EXdl X2 350,000
& 105,000
Al 245,000

LPGEJ| AFEIt AIEINE AL 89,900 55,000 34,900
= 40,455
& 8,990
Al 40,455

403 AXISRISAH=01A 89,900 55,000 34,900
= 40,455
& 8,990
Al 40,455




2AM:
X{XH -
o /e

cH):

Ol LA X1 2
HiHX=20He & S50
ALK 25

HEE

SN - HEY - SRI(EH) - KIRAE - B Ofl st e HIDE2
02 S 2SS0t ett=H AL 89,900 55,000 34,900
LPGEJ| AHEIt=1 AIEHE AL 89,900
= 40,455
= 8,990
Al 40,455
SES DAL B2 SEXR 2,900,000 0 2,900,000
< 2,900,000
402 St HE01A 2,900,000 0 2,900,000
= 2,900,000
03 SIZ2H?EALH] 2,900,000 0 2,900,000
S TAItA B2 SEXE 2,900,000
= 2,900,000
SIS XA 3,800,000 3,800,000 0
s LA A 3,800,000 3,800,000 0
308 AHXIEHISOIE 3,800,000 3,800,000 0
13 S 2SS0t etE & AAEAI I 3,800,000 3,800,000 0
HR=s LRI 3,800,000
SHEEdAFHIS XA 740,000 354,000 366,000
= 115,000
Al 625,000
SHEREYEA AX NSRS 2D =2 10,000 10,000 0
201 ZEH=2 | 10,000 10,000 0
02 S232EH| 10,000 10,000
S A NSAXIEH HESE2
== 10,000
UMAZHI|A 01 AAHETAL AR 22 (ZH]) 200,000 64,000 136,000
< 100,000
Al 100,000
307 eI2t0| ™ 200,000 50,000 150,000
= 100,000
Al 100,000
02 BIZHE &AM E L 200,000 0 200,000
EEATHEIS =0 HTHSIAL A= 2L
(%) 200,000
< 100,000
Al 100,000
LHAFHIS =0 el 30,000 30,000 0
< 15,000
Al 15,000
307 eI2t0| ™ 30,000 30,000 0
= 15,000
Al 15,000
02 BIZHE A E L 30,000 0 30,000
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2AM:

Ol LA KT 12

HE: FHoIX| U KNS UB)
SH9l: HBXSHLII2 AR A& 22l (Cigl mel)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
| AEsE2 N2 A A 13,200
A210/HH012 2E K& 430,569 1,423,330 A992,761
308 MAIHSOIH 419,469 421,125 1,656
13 SISO A4HAS A 419,469 421,125 1,656
2J10[81013 B&H ?(EfAIEYI 419,469
403 AXIEHHSAH=Z01E 11,100 1,002,205 991,105
02 SIS0 Ut AEAI I 11,100 1,002,205 A991,105
AJH0IHI0IZ AH2H RAEAH] 11,100
=2 | 66,030 67,950 A1,920
Jl=3Hl 66,030 67,950 21,920
Jl=3Hl 66,030 67,950 21,920
201 et23| 36,430 38,350 21,920
01 Al 22| 26,930 28,350 1,420
At22te|dl 26,930
-2et==H| 18,680
-2gd 5,250
-S| 3,000
02 S324H| 9,500 10,000 2500
NS |AZe & 323 4,750
SEAE =All 4,750
202 04| 21,000 21,000
01 =LHOHI 21,000 21,000 0
SN2 =Y 21,000
203 ER=&IH| 8,600 8,600 0
03 A= AR =L 5,000 5,000
ANBZ=NAR A 5,000
04 ENESSHR=LH 3,600 3,600 0
A2y 3,600




